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(7=5)x2+11 = (5+10)x 1— 11 =

8-6)x10+3= 5-2(1-9) =

(0=35)>8-8= 14(1-3)=2 =

5+ 1) x 11+ 11 = 63(6+9)+7 =

(11-3)x 10— 10 = 40+ 10— 1)x 1=

www.snowmath.com


https://www.snowmath.com

‘ jtt ﬁ r ‘ w‘ﬁy‘@ﬂw\gﬁj‘iﬁmq\xi@j

anil: dagl) i
(7-5)x2+11=15 (5+10)x1—11=4

(8—6)x 10+ 3 =23 5-2(1-9)=21

(9—5)x8—8=24 14(1 - 3)+2 = (~14)

(5+ 1) x 11+ 11 = 187 63(6+9)+7 =135

(11— 3)x 10— 10= 70 40+-10-1)x1=3
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